—

Algebra | Name AV
Review/Refresh W= M/ Date__

Solve each equation for the indicated varl
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Find the .slope of the line through each pair of points.
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Solve each system by elimination.
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Solve each system by graphing.
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13) The senior classes at High School A and High School B planned separ?i{: trips to Ygllowstone . \[M\g
National Park The senior class at High School A rented and filled 7 v buses with 181 X
ol B rented and ﬁlled 14 vans and 5 buses with 284 students. Every van had ({} \”\}'—'7(9
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14) WMMH and back. The tri § with the wind. It tpok 6
hours. The trip back was Into irtel tp“back took 12 hours. Find the speed of the plane
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15) The school that Dan gogs o is selling tickets to le:j,ﬁprmg musical. On the first day of ticket sales y N, (j\/
the school sold 4 senior Citizen tickets and 7 chikdtickets for a total of $101. The school took in X
$163 on the sécond day by selhng 5 senior citizen tickets and 14 child tickets. Find the price of a \ﬁ U\f\\\d
" senior gitizen ticket and the prlce of a child ticket. 1Y
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16) The senior classes af High School A and ngh School B planned separate trips to the county fair.
The senior class at High School A rented and filled 11 vans and 10 buses with 373 students.

O High School B rented and filled 14 vans and 2 buses with 228 students. Every van had the same
7( \ICA S number of students in it as did the buses. F1nd the number of students in each van and in_ea
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